LGS -3 - Qug Sidle) — (AsTADLAHAS Srib)

Part-B - General Studies — (ITI Std)

efenésem : 101-200 Quwrss wHUCluaTsear : 150
Questions :101-200 ~ Total Marks : 150
101. In which year 15t Finance Commission established?

A) 2015 5 2017

(C) 2019 (D) 2021

(E) Answer not known

abe @O 1570 HEsGWw THUESSLLLS?

(A) 2015 (B) 2017
(C) 2019 (D) 2021
(E) oo Qzsflwefdena

102. Components of GST are of

'ﬂr 3 types

2 types
(C) 5 types
(D) Multiple types
(E) Answer not known

GSTulér 2 eremLsab eremug
(A) 3 auesuLL

(B) 2 aestiu@

(C) 5 cuensULIBID

(D) ue euastiLpibd

(E) e Ozfwaiidme
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103. Self-Help Groups Bank Linked Programme (SBLP) started in
(A), 1996 (B) 2006
1992 (D) 2002
(E) Answer not known

& 2. 561é Gusser il @aertiiy S (SBLP) wyrolssiuc L oyer@
(A) 1996 (B) 2006

(C) 1992 (D) 2002

(E) e Qpfweildveame

104. Match :

(a) Year of Great Divide
(b) Year of Small Divide
(¢) Year of Population Explosion

2011
1961
1951
1921

Ll

(d) Demographic transition

@ G @© @
A 4 2 3

1
B) 4 3 1 2
€ 2 3 1 4

1

o1 3 2

(E) Answer not known

QurEsgs.
() vz Azreans Qupn WRmar <L&TEH 2011
- 1961
1951

1921

(b) wssar Qgrens Ay Nenay @TH
(©) wasdr Ogrens Aeug.LiLy 0

W

(d) wésdr Qsrens LIYSD

@ b @©@ @
A 4 2 3

1
B) 4 3 1 2
) 2 3 1 4
D) 4 3 2 1
(E) &flenL Ggﬁlﬁ_ldilcba)m
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105. Which of the following is incorrectly paired?

(1) Monosomy -~ 2n-2
(2) Trisomy - 2n+1
3) Tetrasbmy - 2n+2
(4) Nullisomy - 2n+3

®) (1) and (2)
(B) (1) and (3)
(©) (2)and (4
W (1) and @)
© (E) Answer not known
Spsam_aupper og sfurar Goeamune.

(1) CuwrGarmGems - 2n -2

(2) qerGsmd - 2n+l
() QuignGsmfl — 2n+2
(4) posiGens - 2n+3

@) (1) opps (2)
B) (1) wppid (3)
©) @ oppo @)
D) (1) wppe (@)

(E) e Asfuaidama
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106. Among the following which i1s a nitrogenous fertilizer?

6 Urea

(B)

©)

(D)
()

Potassium Sulphate
Bone ash
Gypsum

Answer not known

Sp&eaETLcuhnIET 6T Bl Tmenat CLhmieTer o fib?

(A)
(B)
©
D)
(E)

uphwr
Qum_rflub FoGul.
GTILDL{F FMDLICY

sHCIED
eflenL Qgflweldene

107. Aluminium reacts with Sodium hydroxide to give

(A)
(B)
©

Sodium Oxide + Alumina + Hydrogen
Sodium Meta Aluminate + Water

Metallic Sodium + Aluminium Hydroxide

6 Sodium Meta aluminate + Hydrogen

()

Answer not known

si@daflwin Camgwib QDL TéemaHIL et efleneny Mg smeug)

A)
(B)
(©)
(D)
(E)

Geamgwid péamen® + SENdlemnT + eHEnL FER6s
Gamguib GuiLr HgbiGar’ + Bi

2 Qarg Cemgund + gflafhun Gﬁ)@mI_IJTIEGDGI‘U@
Gemguitd Gl Lm él@lLlS]GGUTI_ + namLrmel

cflen Qaflweideane
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108.

109.

Calculate the velocity of a moving body of mass 5 kg whose linear
momentum 1s 2.5 kg ms-1,
(A) 0.2 ms
(B) 0.7 ms—? .
A 0.5 ms-1 '
(D) 1.2 ms-!
(E) Answer not known
5 .8 Beooyder QurmQerrandler CrrsGaer () epsb 2.5 £.48 Bl erafle,
sigar Sans Cousgang semsdl(Hia.
A) 0.2 S8
(B) 0.7 Se0™
(C) 0588
(D) 1.2.88™
(E) eSlev Qeflweldene
An electric heater of resistance 5 Q is connected to an electric source. If a
current of 6 A flows through the heater, then find the amount of heat
produced in 5 minutes.
(A) 9000d
(B) 25000J
@ 54000
(D) 84000 J
(E) Answer not known |
5 Q Beanger. QsramL Wer &GLHB @ WLer ppassLdr QeaarésuGdng. 6 A
WearGanrlLwmarg Q55 &Gupd euPlwuns umbdlogy eafld 5 ﬁltﬂl_rmmaﬁm
2 heun@ Geuliugdlen sieTee Hners.
(A) 9000dJ
(B) 25000 J
(C) 540004J
(D) 84000dJ
(E) e Qgfwaidvene
33 ~ DMGS/2023

[Turn over



110. The first batch of Women Military Police was inducted into the Indian
army in
(A) April 2021
d May 2021
(C) dJune 2021
(D) duly 2021
(E) Answer not known
@ndu Quraneusdéd sarpsors Cuenm @Qorgpieu Cunredlent ohs Yy emH

GET&Es LI G,

(A) quge 2021

(B) Guw 2021

(C) g9ar 2021

(D) gY@« 2021

(E) e Gsfweildvrene |

111. The National flower of India, Lotus is botanically known as
(A) Centaurea
% Nelumbo Nucifera
(C) Acacia
(D) Lisianthus
(E) Answer not known
@pdwreler Csflw  wver, gmoery, gregelwe fHure ————  erény
U EDa. -
(A) QeanGLrflwn
(B) GpawnGur Blyflugr
(C) osrefunr
D) @ofursgey
(E) e Qsflweficvened
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112. In India, the political parties are given official recognition by

113.

(A)
(B)

The President

Parlhiament

4{ Election Commission

(D)
(E)

All Party Parliamentary Committee

L

Answer not known

QpHwureled irflud sLflsEnsE ANSTIO Lieunns mEsTyb anpki@eg

(A)
B)

(©

D)
(E)

G WIS ST

LIFgM@HLOGSTDLD

Cafige pemerTud

Siemansg &8 umy.rr@meﬁup &W
e Ggflweiidvana

How many members are being nominated by the President to the Rajya .
Sabha?

A)

21

o 12

(©)
(D)

18
20

(E) Answer not known
wrflekseraeulie gerrFuuned aggenar o pOfentser  Hwwerd
Qedirtiu@Eenpent ?

(A)
B)
©)

D)

(E)

21
12
18
20
eflen Qgfluichivenew |
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114. Which is the first metal that prehistoric man has started using for many
purposes? |

(A) Iron Ore
(B) Gold
(C) Silver
} Copper
(E) Answer not known _
- aupnpiinE oppasw arwsHCat wallgamd aean{ligsstut L uwpse 2 Cansn
TSl ?
A) Qoobus sy
(B) smsw
(C) Qeudrafl
D) smigo |
(E) e Qsflweideaa

115. Which states are benefited from Tungabhadra Project?
(A) Andhra Pradesh and Tamil Nadu
6 Andhra Pradesh and Karnataka
(C) Andhra Pradesh and Maharashtra
(D) Andhra Pradesh and Odisha
(E) Answer not known |
FasusTr S AN (mHE LwatenL Wb wrblemkser wrame ?
A)  pdy0 GgGgad whmid sBPBIH
(B) <pflyc QrCseid whmid STBTL&ET
(©) <pdra 9rGsebd HID WETTTESG T
D) <apdv GrCsswd LHMD GryeT
(E) e Qsfueidane
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116. The headquarter of Pavan-Hans Helicopter Litd. is

117.

(A) Kolkatta | (B) Mumbai
New Delhi (D) Chennai
(E) Answer not known
Leuen-anrerey  eurgieon@ caid (Qapdstuct) fpeeasddar gameamoudib

2BLD-
(A) Qarésssm (B) qperu
C) ygQewe (D) Qsenanen

(E) e Qsflweldensy

Match correctly the following Indus Valley Civilization sites with its
locations. :

(a) Harappa 1. Sindh
(b) Mohenjadaro 2. Guarath
(¢) Kalibangan 3.  Punjab
(d) Lothal 4. Rajasthan
@ ® © @
(A) 2 4 1 3
3 1 4 2 .
(C) 38 4 2 1
D) 2 1 4 3

(E) Answer not known

g soGeuetl prafissdar geriisamar g @@uﬁlt_ggn_aﬂ sflwrs QUITBESS.

(a) eoglur 1. fApg

(b) QurGangsesTGrn 2 @gq'rrg

(©) sreflurisen 3. wugemno
(d) Congge ‘ 4. grggevgen

@ ® ©© @@
A 2 4 1
® 3 1 4
C) 3 4 2
M 2 1 4
(B) Mer Qsfweiicvenad

Lo = BN
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118. Kamran, Askari, Hindal are brothers of
(A) Akbar o
| '6 Humayun | ﬁ
(C) Shajahan
(D) Aurangzeb
(E) Answer not known
smbgren, sevsndl, aflarLrd wrgeoLrw sCangrise ?
(A) sunr |
(B) amewmyen
(C) aprgsmen
D) gegrssl
(E) ofenr QsAwueidvane

119. Which of the following inscriptions describes the victories of
Pulakesin II? |

6 Aihole

(B) Saranath

(C) Sanchi

(D) Junagath

(E) Answer not known |
Epsararuaraipie @ramiad yaCsAllar Qaupdiaamen Aafissd sobaur G
TS o |
(A) <onCsrdd

(B) e#mpprg

(C)  engpd

D) grerss

(E) e Qgfwueldena
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120. The caucasoid is known as race.
(A). Asian
{ European
(C) African
(D) Australian
(E) Answer not known g
ENEHETI[H TTUGITHET —————— Ql@gsal.
(A) 2 SIS
(B) gCrmulSwrser
©C) uafssiger
(D) <avdCrallwunser
(E) &flenr Qsflweiicrana

121. The word ‘Secularism’ was added into the Preamble by the
42nd Constitutional Amendment Act of

A) 1950
(B) 1947
e 1976
D) 1956

(E) Answer not known
sOWESTILDD Ty Tis®s 42-agl Srfueewiys JmsséslLsdlda apal
wpesayerid Carssuul L. e

(A) 1950
(B) 1947
(C) 1976
(D) 1956
(E) &fen Qgflwaidoee

B | 39 DMGS/2023
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122. Which Article and Part of the Constitution of India deals with loss of
Indian Citizenship?

(A) Part ITI

Part IT Article 5-11
(C) Part II Article 5-6
(D) Part IV Article~12

(E) Answer not known

Qidu efue sewwiys slLgddr apst 9GOfley wogb Gfaysdar @ruyfaw
Byssd upls GHOEGAapan?

(A) @fley ITI

(B) Gfley IT wigdwed ety s 5 1psed 11 cuaniy
(O Y9y IT wipdwed simwiy st 5 wad 6 ey
(D) ey IV sigdwed stevwiiy s — 12

(B) e Ggfwueldeane

123. Choose the False Statement with respect to the qualification for the
election of Indian President.

(A) He/She should be a citizen of India
6 He/She must have completed the age of forty years

(C) He/She must not hold any office of Profit under the Union, State or
Local Government

(D) He/She should have the other qualifications required to become a
member of the Lok Sabha

(E) Answer hot known

FeuNiTens snpienend &rl_(His. _
Qidws Gywirss st Caisadld CuUrlyul@Geaugdsrear s@Haer
(A) @pdu GLsaTs/ Gy LETs @MmEsH CouarTHID

(B) 40 awug yisd S@psauTTs QEmsse CauamHit

(C) pOeuan gfConr, wrfle orfGor, ioeg eetetn A sie@wlysefGar
sarflund Gumnd ugeuledr @HEse sl g

(D) wasaess e pubarasparar ggﬁuﬁlmaﬂu QAupBlBssd CadTBin
(E) e Ggfweiidrena
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124. Who said that “To Call Woman the weaker sex is a libel; it is man’s
injustice to Woman”? '

' 125'.

(A)

Jawaharlal Nehru

J Mahatma Gandhi

©
D)

(E)

Swami Vivekanandar
Savitribai Phule

Answer not known

“Queataenenl UweiaTorar Lrdand eramy QFTdg QU SwgID ; g Cuwr

Pz iE aafland Geopssn sifduren” aeny sfluet wmr?

A)
(B)
©
(D)
(E)

speuaniard Grm
WETSLT STHS
gaun HAGeusrarhgr
gmaligfumi 4Ge
eflep QgMweicreney

Simplify : 20+[8 x 2+ {6x3—-10+5}]

(A)
B

44
50

e 52 | B

(D)

56

- (E) Answer not known

smeEs : 20+[8 x 2+{6x3~10 +5}]

(A)
(B)
©
D)
(E)

44
50

52

56
eflen GgMwelicrena
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126. Find the HCF of 867 and 255
(A) 03
& 51
© 17
(D) 255
(E) Answer not known

867 winmd 2556 B.Qu.eu s

(A) 03

(B) 51

©) 17

(D) 255°

() oMa Gsfwaideame

127. ¥ m=2% x 87 x 5! and n=27 x 38 x7'2. Find the HCF of m and n.

(A) 27 x37
(B) 2°x3®
(C) 27x38

.ﬁf) 2% x 37

(E) Answer not known

m=2° x 3" x 5 Lppw n=2"x 3°

ST,

Ay 27x3"

(B) 2° <38

(C) 2"x3®

D) 2°x 3

(E) efen QsRwelldvene

DMGS/2023
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128. If 0.75 : x :: 5:8 then x is

(A)

12

@ 12

©
(D)

0.12
120

(E) Answer not known

0.75 : x :: 5:8 aafle x -ar LAY

@)
(B
©
D)
(E)

12
1.2

0.12

120

eSenL QzMweidane

129. If 3xx=4xy then x : y is

*ﬁ 4:3

(B)
€
D)
(E)

3:4
9:12
12: 16

Answer not known

3xx=4xy crefiled x : y=?

@
®)
©
©)
(E)

4:3

3:4

9:12

12:16

aflen Gsfwedrenew

43
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130. Arun has paid Simple Interest on a certain sum for 3 years at 156% per
annum is T 450. Find the sum.

A) 800
(B) 900
& 1,000
(D) 2,000
(E) Answer not known

QST @6 GHUTLL. AgrassaE 15% ol Sgb 3 p&mhsdr sfisg T 450 gafl
gt QFSHTTD DisMEE STETS.

(A) 800 (B) 900
(C) 1,000 (D) 2,000
(E) & Gaflweldvane

131. A principal becomes T 2028 in 2 years at 4% p.a. compound interest.
Find the principal.

(A) %1600
) 1875
(C) T 1900
(D) 2000
(E) Answer not known

gt sisTang 2 arhisald pErhsE 4% FmlGalyula T 2028 w5 dps
Tl BFMVE SNENTS.

(A) %1600
- (B) T 1875
(C) T 1900
(D) <2000
(E) e Qsfweldeme
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132. A man takes 15 day's to finish a job whereas a woman takes 20 days to
finish the same job together they worked for 6 days and-then the man
Jeft. In how many days will the woman complete the remaining job.

@ 4 v 6
C) 8 - (D) 10
| (E) Answer not known
gf Camamu Pass @I Spem 15 prisEsd @f Quem 20 BILGEHD TOSs
Qenarfanpent. Qwamd Coitg <ips Camomu 6 prisda Qsus 9D iBs -
. o@n Cameoowu &G Qsap AGHprr. Bsapdrar Camaew xibs Quiehr
eTggenen B sefld PliLmiT?
A) 4 (B) 6
(C) 8 - (D) 10

(E) oo Qpflweilcrena

133. A works 3 times as fast as B and is able to complete a task in 24 days
less than the days taken by B. Find the time in which they can complete
the work together.

(A) 3days- 69 days

(C) 12 days ' - (D) 24 days

(E) Answer not known

A gamair B g sniggib 3 wLti@ Casors g GCamumw Calg Wiruumtf.

Siaugnd st vaflew B a@sgs Qsrar Crrsmg o 24 BT G@DaNs
a0ss Huss Qudpg. Qoamd Gty oips Caumamw Phés PGO

Crrsemns amer.
(A) 38 priser ‘ (B) 9 prisen
(© 12 gﬂn‘.assh ' (D) 24 prisar

(E) oo Qsflwecidoene

B S | 15 | DMGS/2023
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134. Probability of getting a job for a person is % and the probability of not

getting a job is —;—, then the value of x 1s

@ 2 R

15
3 3
©) 3 | D) 1

(E) Answer not known

R BUmSE Ceaume élmLuug;,[banaT Hlapgsay g, Cavmar da_ssmwed

Bruughsrer Aepssay % erafléd x e Iy

8 15
N ® 5

3 3
© 3 (D) 7

(E) el Qgfuefdvana

135. Find the simple interest for.z 20,000 for 4 years at 10% p.a.

(A) T 7,000

) 28,000
(C) 79,000
D) 74,000
(E) Answer not known
¥ 20,0006 10% @y eigD 4 YATOHEFES HoLEGD safleully STaNs.
(A) T 7,000
(B) 8,000
(C) 79,000
D) 74,000
(E) e Osfueidena
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136. Find the sum of 0.40+0.43+0.46+---+1
o« 7 | (B) 15.7
(C) 16.7 ' (D) 17.7
(E) Answer not known
0.40 +0.43+0.46 + - +1 crenp Qe s God sraws

(A) 14.7 (B) 15.7
(C) 16.7 (D) 17.7
(E) &er. Qsflualdend

137. Find the least positive integer n such that 1 + 6 + 62 +--- + 6" > 5000
A n=5 B) n=4 |

“ n-=6 D) n="1

(E) Answer not known

14+6+62 +-.-+ 8" >5000 arempeuny e WE&FHuw Bes (pep e n

SIS,
A n=5 (B) n=4
(C) n=6 D) n="7

(B) e Qgfwelapme

138. Swadeshi movement led by in Tamilnadu.

«) V.0.C. (B) V.V.S.

(C) Vanjinathan (D) Neelaganda Brahmachari
(E) Answer not known

sBDBT 1nd &#OGs8 @uEsD ———— saoawuie paLubHDS).

(A) oo .8 B) a.Cas

(C) eungrséprgen (D) Bosar_ Gybwésrd

(E) ofer Qgtﬂmaﬂmmm.

B 47 DMGS/2023
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139. In which year was the Vernacular Press Act passed by Lord Lytton
(A) 1875 | . (B) 1885
©) 1877 o 1578
(E) Answer not known |
alon Qumfia usffisams FLb, e Gyyeumd Gupoiul L. oeTH |
(A) 1875 - (B) 1885
(C) 1877 (D) 1878
(E) ofenL Qsfueiidea

140. What is the name of Bhagatsingh’s Mother?
(A) Lilavati ) Vidyavati
(C) Bhuvaneswari (D) Lakshmi Kaur
(E) Answer not known |
ussHBIdler gmumt QL
@A) Serad B) eipuras
(C) yauGaneveu (D) aLrs8 seyi
(E) ol Qafusioama

141. Which National Leader of India who died on 27 May 19647?
(A) B.R. Ambedkar | (B) E.V. Ramasamy
(C) Abulkalam Azad ’6 Jawaharlal Nehru
(E) Answer not known
27 G, 1962-60 Qoibgs @bfwreler Cadwg smeaeut wmi?
(A) B.R. s10Cugsi (B) E.V. grosmf
(O syosarn s (D) geuanierd Grm
(B) e Gsfuddmae

DMGiS/2023 | 48

-



142. Match the following:

(a) Dravidian Home 1. Maraimalai Adigél_
(b) Thozhilalan 2. Rettaimalai Srinivasan
(¢) Tani Tamil Iyakkam 3.  Singaravelan
(d) Jeeviya Saritha Surukkam 4.  Natesanar
@ b @© @@
s 3 1 2
® 3 2 4 1
C) 4 2 1 3
Dy 2 1 3 4
(E) Answer not known
QuIEsES.
(a) quﬁh_fr O | 1. wapwaewgser
(b) Qsmfemeren 2. @rieLba® Safleurser
(¢) salgsiip Qussd 3. fmary Ceuarr
(d) gelw sflg smésD 4. pQusanit
| @ ® ©© @
Aa) 4 3 1 2
- (B) 3 2 4 1
©) 4 2 1 3
(D) 2 1 3 4
(E) oferi Qpflweldans
B 49 DMGS/2023
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143. What is the most sweetest thing that makes men happy? From the Kural
“Mannuyirk Kellaam Inidhu”™?

(A) Benefits a father confers on his son

(B) Benefits a son confers to his parents
.yef Knowing that the progeny excells them in knowledge
(D) Hearing the.son as great Hero
(E) Answer not known
wenguiliTé @ erdevmbd @eflg) eTg?
(A)  sp@s wepsTHRD Her
(B) s ghnssE ednib 2 gef
(C) swfen gwwssa sdleyam e
(D) sar wseen wraliren eTens CaH_Ld

(E) oo GgAweicree

144. What is compared to the herbal tree grown at the center of a home town
-in the ‘Kural’?

(A) Knowledgeable Person
@f Generous Man
(C) Noble Person
(D) King
(E) Answer not known |
eaflen pHCar auanihg OHBSMSD WISME eueT@Eheui WICTTEH @LuAGEDTT?
(A) oifleyeo_Guimf
(B) Qumpseswni
(C) snenGomi
(D)  siyar
(E) e Qaflweidoane

DMGS/2023 . 50 ' B



145. Which of the following pairs is not correct?

(1) Ilanjetchenni —  Chenguttuvan
(11) Mangulam —  Tamil Brahmi inscription
(iii) Uruttirankannanar —~ Pattinappalai

(iv) Velir Chieftains —  Thithiyan

@ () only
(B) (ii) only
(C) (i11) only
(D) (iv) only
(E) Answer not known

Spssamaupdled ahe Qeer supreang ?

(1) @agrCsa Granaf C — QemgBeusn

(i) wmEerd —  slp Elr,rrruSl sDGUL G
(1ii) 2 msHrriserremarmi - ulgeniUrene

(iv) Cauaflige Appraer - Hfwan

@) 6) v D ,
B) @) v ew
(C) (i) v P
(D) (V) vifw
I(E) aﬂmgagﬂuaﬁ]mmm'
p | 51 | DMGS/2023
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146. Name the major tribal revolt took place in Chotanagpur region.
(A) Wahhabi Rebellion
(B) Santhal Hool

6 Kol Revolt

(D) Munda Rebellion

(E) Answer not known

Coriim préuT uGHWe BLBs BsuQuily LkiEy e deriss
(A) awapmd fHerirsd

(B) smpswisaler Harisd

(C) Coné Heriiéd

(D) qpern Herisd

(E) e Qsfweiioea

147. Where was Captain Lakshmi Sehgal born?
( Chennai
(B) Calcutta
(C) Tanjavur
(D) Singapore
(E) Answer not known
CaiLen el sl Qesd ormii@ 19DbSeuiT?
(A) Qeerean |
(B) swszsgr
© sesemayt
D) Amsoyhn
(E) & Qsflweldans
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148. What according to Valluvar is the way that will not destroy one’s own

149.

wealth?
(A) Avoid theft 6 Being free from covetousness
(C) Shun falsehood (D) Be unfriendly

(E) Answer not known

FHEUHHLL Qedaid GDWIDD B@HEs euaTEhaul sagid eyl wrg ?
(A)  serey Qewwmerw (B) Wpr Quigmar eflpbumend
(C) Qumi Qsrd@menw (D) pry umgrlLmenio

(E) e Qasfluciidvae

Which statement is true about the practice of Sati?

(i) Raja Ram Mohan Roy took the oath to abolish the Sati.

(i) He helped William Bentinck to abolish this practice.

(iii) The practice of Sati a punishable offence was declared in 1829.
(A) Only (@)
(B) Only (1)

- (C) Only ()

(), (i) and (i)
(E) Answer not known
58 poLpop upHlu sfwrer mbBeer/smppsmeans Caoibblshbsab.

(@) ongr grbd Gorser i @6s 8 a@d FoLp@pEL @SS 2 pAQmf
THSSHITIT.

(1) @b po_opow fiss elddun CuadTys-8H@ e gailarT.

(i) &d upssd gan_mansglu Ghowrs 18298 csi,rﬁlaﬂésasuun‘_i_g.

Q) @) vipw

(B) (11) wi@w

(C) (i) v

D) @, (1) wpgd (1i1)

(E) oftenL Qpfwefdena
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150. The Government of Tamil Nadu announced that 2713 Government
will get hi-tech computer labs.

(A) Primary Schools ) Middle Schools

(C) Secondary Schools (D) Higher Secondary Schools

(E) Answer not known

2713 & —————— S@6HG 2Wisy saflal Hiuahsd auphsUU@D eear
BLOPBNH e ybledisgerang:.

(A) ol u'dmﬂ.‘ : (B) phfleoess Laref

(C) Guéabamew uere D) cwif@aw uereaf

(E) eferr Qsfwaidame

151. Choose the wrong statement about Education Policy in the British Rule.
@) Divided into 4 periods
(i1) Commenced with Sir Charles Wood’s Despatch in 1845.
(111) It is also called “Magna Carta”.
(A) Only ()
v Only Gi)
(C) Only (i) and (ii)
(D) Only (iii)
I(E) Answer not known
udCawr Ao soells  Qsrawms updu  sauprer sahflereans
Caip@zhdseyb.
Q) ‘r_r,rrdrr@ sronsens Afssciu Hererg.
(i) 1845@d & eniwev gpt QLG SF Agrmisiiu L g.
(i) @z wréant sr LT aaTHD SSPESULGEDS.
Ay @) vipw
(B) (1) v @
(©) () womod (i) wLHw
(D) (i) we@Pw
(E) e Qgfweidveme
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152. Which of the following is wrong Statement?

(i) Tamil Nadu stands second in area and production of coffee next to

- Karnataka.
(1) * Coffee plants are grown only in the hills of Western Ghats.
(ii) Tamil Nadu ranks second in area and production of Tea in India

next to Assam.

(1) only
6{ (i1) only
(C) (@ and (ii) only
(D) () and (ii1) only
(E) Answer not known
Spscim_euppier saiprar spPleer ENOAGS.

)  sm9 2 pusHuier eiger LgueTellad sipr_sr wrflosdn@ SHsg sBDPEIGH
@oamLmilLib audlsfmg.

(i) Guhe Agm_isdl wawsallsd wIED s LYGACILESDS.

(i) Gpuiew vWRGDL wuwriy wHEL 2 HusHe @bdHureien  eiEmbd
wrheosdHe AGSsULGLTE SODHETH BreTLmiLy cudsdngy. |

A) ) v

(B) (1) w@w

© @) wpgw (i) G

(D) ) wpgidp (1) wEw

(E) &L Qsfwuevame
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153. Choose the incorrect sﬁatement about the strengths of Indian Economy.
(A) India has a mixed economy
\{) Industries plays the key role
(C) India has a fast growing economy
(D) Fast growing service sector
(E) Answer not known
@pHwuis Qu'rr(_rgmrr,srrqgﬁld.r URSH earn gemouldd Gummbsns aursfusss
G,sr‘rﬁr;@;@.
A) @pdur gm setiy QuirmperTsmyib
(B) Qsmfibgimp wsdlu LuE wdsdog
(C) @pdwur Causwnra euetmb QurwaTTETTEms Qanar@eTerg
D) Gm;mrra auetrd Ceamar g

(E) MNevi Qgfwaiidene
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154: The Current Employment trends are

@)

(ii)
(iii)
(iv)

There has been a growth in part-time employment
Increasing self-employment
Full employment

Firms using fewer full-time employees and tending to offer more

short-term contracts

¥ ), G, Gv) only

(B)
©
D)
(E)

(1), (ii1), (iv) only
(1), (11), (i1i) only
(), (1), (iv) only

Answer not known

ghare Caumeeaumiiy Curé@sermeuar

®
(i1)
(i11)
(iv)

&)
B
©)
D)
(E)

ugd Cor Caumaamiuibe g aeniéd Gumbsl umDS.
<ifeflss aumb sw-Caamaeumiii
@ Casera aumiuliy Hleve

fyeuensar am Ao Hrbsr m@lun&mm@m uu.:asru@ﬁg]gm LDﬂ)Q_ILD @guélu.l
sre @UUBSY uamfilamer gheaugib. : .

@, (i), Gv) G
(i), (ii1), (iv) LG
@), (i), (iil) weEo
@, (i), (v) @
oL Apfusiome
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155. The Causative Organism Bordetella Pertussis affecting the respiratory
tract causes - disease.

(A) Diphtheria

(B) Tuberculosis

(C) Polio Myelitis
M Whooping Cough

(E) Answer not known

Cpmig smyenflumer Gurr@LGLdenr QuiGfd seaunss Guomi u@ﬁ]‘af)u_l urg& s
— Gprew ghu@ssdos.

(A) QgrarenL oippd Crmis
(B) srsCpmi

(C) CGureliGur enwedligen
(D) s&@eumret G@mwe

(E) &flev Qsfweficvency

156. Among the following animals, whose saliva contains the bio-chemical
substance used for the preparation of pharmaceutical drugs that can
treat hypertension.

(A) Oryctolagus Cuniculus

(B) Calotes Versicolor

(C) Rana Hexadactyla
Hirudinaria granulosa

(E) Answer not known
Spsergond  lomgsaid 2 fpsAd oda  Cafa Qurmearatsy  @Qés
SWSFFMTE GODSSGD LHESISET gwrilssts Lweu@danpen.

A) efsCLrCase HyeafEawe
(B) &rGar_cv QeuedlCare
(C) grenm Qamdevm_rdg e

(D) gﬁl@.tq_@emrﬂu_lrr fongnCamen
(E) deo Qgfudiapame
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157. — converts the light rays into impulses and sends the signals
to the brain through the optic nerve.

«r Retina

.(B) Cornea
(C) Sclera
(D) Lens

(E) Answer not known
poflssdrsamer Weangram _dosens wrhHdl Deubanl UmTTeney BFbiAer
anfuwns apenansE stginb uaflgamers Qsiifanng).

W Agsdanr
(B) ariraflwn
(C) evdlafigr
(D) QGaérs
(E) e&Senr Qsflweliddena

158. Cane Sugar is made up of three elements \
and

(A) Carbon, Nitrogen and Oxygen
6 Carbon, Hydrogen and Oxygen
(C) Carbon, Calcium and Oxygen
(D) Carbon, Hydrogen and Iron

(E) Answer not known

S(HIDL| FAESHTUINGTH — . wHod ———— S eperm
gaflwrigernd yearg).

(A) aniuen, enpLymer WHYWD B,&ES R
(B) snfuer, evanlggen whoib 2 sfgen
(C) smiuer, sroflwd wHID & ger
(D)  smiuer, wapyger wHmID BB
(E) &len Qgfweldrenew

B | | 59 . DMGS/2023
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159. Match the following measuring instruments with the physical quantities

they can measure :

(a) Hydrometer
(b) Saccharometer
(¢) Lactometer

(d) Alcoholometer

@ b ©
a1 2 3

4
(B) 3 4 1 2
2
2

'~t()3 1 4.

D) 1 3 4
(E) Answer not known

Ll A A

density of sugar in liquid

Jevels of alcohol in spirit

relative density of liquid

creaminess of milk

&G%p QasrRssiuc Herer Sjerell(id smellsamer g Herelldaniqw Guiindwied

LelTLS @Rl 6 OlLIm(b5gis.
(a) oap Grronefl

(b) &rrésas@s;rfrmrrsoﬂ

(©) ersGLmorefl

(d) wgwre

@& ® o @
a1 2 3

® 3 4 1
) 3 1 4

D 1 3 4
(E) &bl Osflueiidveer

4
2
2
2

DMGS/2023

A

FrésTilen SiLisH
gmymugslen izl
fraugdlen guufigd

unelen BILigSl
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160. Match the following:

(é) Karakoram pass

(b) Zojila pa.ss |

(¢) Bamdila pass

(d) N'éthula pass

@ ® @© @

_v(() 3 1 4 2
(B) 4 3 2 1
© 3 4 1 2
D) 2 1 4 3
(E) Answer not known.
QuUTGEES.

(a) smyCsmyb sareums
(b) Cgrefer semeund:

() Gumdiger Sewemis
(d) prgieor sawam

@ ® @© @
@A) 3 1 4 2
®4 3 2 1
_(C) ! 4 1 2
D) 2 1 4 3
(E) ofen Qsflueiidrena
B : | 61

Ll

= b=

Himachal Pradesh
Sikkim
Jammu and Kashmir

Arunachal Pradesh |

@uwnsse G9rGasb
AsAw
sbap-sreigSi

SiranrssdlrCge
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[Turn over



161. The British era bridge which collapsed in Morbi district is situated in
which State?

(A)l Haryana

(B) Karnataka

d Gujarat

(D) Madhya Pradesh
(E) Answer not known

Qurmd wre L gdé @y ps aﬁl@;bg cg,r&é]@euu.irr T UL 6ThS wnﬂmgﬁm
SAMpGleTeng ?

(A) epfwnerr

(B) sipmien

©) ogms

D) - vpdw ACgew

(E) &Ser Qsflwefdemea

162. The erstwhile Mid-Day Meal Scheme is i*enamed as

(A) UMANG
(B) Bhavishya
(C) POSCO

6 PM-POSHAN
(E) Answeij not known
whangu ww 2 eey AL ghHear oy QuUwiT wrg ?
(A) oome
(B) uvefeigw

| (C) CGurivGar
(D) PM-Gunagenr
(B) e Ggfweidena
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163. Which among the 2022 ‘Nobel laureates of Physics demonstrated
quantum teleportation?

(A) Alain Aspect B (B) John Clauser
6 Anton Zeilinger (D) Daidier Queloz
(E) Answer not known '
2oz2  Gpmud  wuflflaer @mﬁ)ﬂ@gﬂéaasrr& Qeuanpeuisailar  ‘@Gounami id
ABTeISSTEIS B (peppew’ QFug STligweut wmi?
(A) oo sCLsE | (B) snen faraysit
(C) oem_en evsalliusi (D) $8Cw QaCeom
| (E) oflen Qgrﬂu_raﬁlsbmm'

164. Assertion (A): The Arabian Sea branch of South West monsoon gives
heavy rainfall to the West Coast of India.

Reason (R) : It is located in the windward side of the West ernghats.
(A) (A) is true but (R) is false '
(B) (A)is false, (R) is true _

Both (A) and (R) are true; and (R) is the correct explanation of (A)
(D) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(E) Answer not known

sapm (A) : QganConE umas smpflar  rdssLe  Aemerdend
Gpdurcier  Cuhe o Canr uEHsdr =igls  wapew
Qumidlenper. '

smyenrd (R) : @ps usdsar Cope Csrisd wvewselar sHp eeb

Havauler B eTeTE.
Q&) (A) aarug sl e (R) eramug) geum
B) (A) eaaug gaum. (R) aarug &f
©) (A) wppid R) @ren@id sl smremd ®) smpyy (A) g cleréehps

D) (A) wpob (R) @rariiod & smyemn (R) sappissrer (A) sflwrar dlarssb
Sl o

(E) e Gzflweicana
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165. Which of the following Wild Life Sanctuary is located at Tirunelveli
District?

(A) Mudumala1 Wildlife Sanctuary
{ Mundanthurai Wildlife Sanctuary
(C) Indira Gandhi Wildlife Sanctuary
(D) Point Cahmere Wildlife Sanctuary

(E) Answer not known
dereumauaraupper aps aaeliomE srammowub HrOpaGaudd wraul FHd
DO HFIETETG) ?

A) wgoveoe aearelioti@ srarmawd

B) war pgiop aarefeon@ sramrawid
(C) @odrmsnsd ewarelonii@ srarraWwLD
D) Camgusseny cuareloiis syamrowLd

(E) e Qzflweldvrera

166. India is the largest producer of Coffee globaily.
" (A) 92nd
(B) 4t
&
(D) o
(E) Answer not known
2 ws 1l 2 puFHGD GHur ————eraug @Los wlsdpg.
A 2
B) 4
© 7
D) 9
(E) eer QgRwelicrena
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167. Choose and Match the correct answer :

Author ' Literary Works
Surya Siddantha

Amara Kosha

(a) Dhanvantn
(b) Varahamihira

L A

(¢) Aryabhatta Brihad Samhita
(d) Amarasimha Ayurveda
@& ® © @ |
'6 4 3 1 2
B) 4 1 2 3
©4 2 1 3
D) 4 3 2 1
(E) Answer not known
QU e S,
apduaic @esAuriuemL i
(a) gemaupdil 1. @mw Aggrper
®) augrap@dym 2. euopGsrast
© apfwuci 3. Gmans sbafsn
(d) q9ILD.IIéﬂlbLD(T 4, s rCeugn
@ ® © @
A 4 3 1 2
B) 4 1 2 3
© 4 2 1 3
4 3 2 1
(E) &feor QsflweSicrena
B | 65 . DMGS/2023
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1

68. — was the Jain name of Appar.
6 Dharmasena

(B) Harisena

(C) Theerthankara

(D) Sivagnana Sithiyar

(E) Answer not known

SILILfer et Logg'sﬁlsiﬂ Quwir

(A) siwGsari

(B) <ofGsarn

(C) grsgrusyi

(D) Aagrer HzPwrr

(E) &erL QsAweficrene

169. ‘SATRIYA’ dance was famous in
- (A) Manipur
(B) Kashmir
6 Assam
(D) Odissha
| E) Answér not known
sHilwr prend apg wrilesdd LspQubppg
(A)  wesfluyi
(B) sneigdi
(C) =smd
D) gyer
(E) &flen Qaflweioeae
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170. Which of the following statements are correct about Dr. Sachchidananda
Sinha? |
(i) He was the oldest member elected as the temporary President of
the Assembly.

(ii)) He was elected as the Vice-President of the A_ssembly

(i1i) He was elected as the President of the Assembly.

o ) only

(B) (1) and (iii) only

(©) () and (i) only

(D) - (1) and (ii1) only

(E) Answer not known

Dr. ssfigrenss Adrsraa LpBu shurer smpHloer CETEASHEsaD.

) et Qeswudean  apps  cgulemns  spaEtdls  soeans

Caip@sMssul L,
(1) e @iseuldien Fwar SIS Ggﬁg}@g@&aﬁuﬁi_rrfr;
(i) ot @ssulen s@aarts CeibOsBESLILILLTT,
@) () wGw |
B ) oo i) 060
© @ wppid (i) wieo
©) (i) wpgid (i) G

(E) oo Gsflusidvae
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171. Whic
(A)
(B
©

@

(E)

h does not take relationship between the, Centre and the States are?
Legislative relations

Administrative relations

Financial relations

Public relations

Answer not known

aeueuamswirar o pa| wiHu wrfle 2igEsERsEG Qo Cu @dama

(A)
B)
(©
(D)
(E)

172. Who

<«

FLLDGTD 2 DE&6T
Blireura 2 peoysar
HF 2 paysar
Aurgeuers 2 peaysdr

eflenL Gasflwellcvenay -

amdng the following decides whether a bill is a money Bill or not?

Speaker of Lok sabha

(B) Attorney General .
(C) Parliament Affairs Minister

D)

Finance Secretary

' (E) Answer not known

£.@$a;s&un_mmg|eh om wCsrgreas B wCsrgraur veg Qsr WEFTETAN arem
Snorells@o fsrrd Qerareuf

(A)

WEFATENE FUMBTLIST

(B) @ﬂj@m SITHET FOWMID GUYPS&HEGHMTEHIT
(©) sprineswenp dleusny Bi@wigit

(D)
(E)

DMGS/2023
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173. Write the equivalent fraction of 61 %?

@ 1
® %
< L
® 2

(E) Answer not known

6+ % swiwnen Geiren qugaugder erpgs.

@ 1
® L
© %
o L

(E) &fen Gl,slﬂuJaﬁldJa)w |

174. Find the single discount in percentage which is equivalent to two
successive discounts of 25% and 20% given on an article?

(A) 55%
(B) 60%
(C) 75%
& 10%
(E) Answer not known

@0 Qurmaier Bg aprialu@bd @@ QAsTLir SeTEpUgseT @mgﬁ@w 25% WwHHb
20% araried @sH@ Pagrer @G sonars sarEbUy s sSaissHemeans srans.

(A) 55%
(B) 60%
(C) 75%
(D) 40% _
(E) <l QsMucbideana

B | ‘ 69 . _ DMGS/2023
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175. Find the LCM of 156 and 124
(A) 4326
(B) 4386
(C) 4826
& 4336
(E) Answer not l:mown |
156 wpmb 1244 Bsfly QurgwL i@ smer.
(A) 4326 |
. (B) 4386
(C) 4826
(D) 4836
(E) oS Qgflueidrena

176. Find the LCM of the pair aé +4a-12 and a®-5a+6 whose GCD is
' a-2.
L5 (@+6 (-2 (@-9
B) (@-6)(@+2)(a-3)
(C) (a+6)(a+2)(a+3)
(D) (@-6)(a-2) @-3)

(E) Answer not known

a’+4a-12, a® -5a+6 SpAweupdlar B.Qun.e. @ -2 erefléd B.Qum.ip. srans

(A) (a+6)(a-2) (a-3)
(B) (a-6)(a+2)(a-3)
C) (@+6)(a+2)(a+3)
D) (a-6)(a-2)(e-3)
(B) & Qgflwelicvenad
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177. If the ratio of Green, Yellow and Black balls in a bag is 4 : 3 : 5, then if
there are 40 black balls in it, then the total number of balls is

(A) 72 balls
(B) 84 balls
& 96 balls
(D) 108 balls

(E) Answer not known

@@ enulldy o eter UEF, WEKEFT LHND SEHLLL LbHsafer Gﬁ]ﬁgw 4:3:5 Sy@lb.
Steulle smuyl upsisallar aarefisens 40 eaeafle, Qurssy ug;glasaﬂsur
aamentlsans

(&) 72 upgiser

(B) 84 upgiser

(C) 96 upgiser

D) 108 upgiser

(B) oflenr. Qsfwcldrenco

178. A bank pays T 240 as interest for 2 years for a sum of ¥ 3000 deposited
as savings. Find the rate of interest given by the bank.

A) 3%

o 4%

©C) 5%

D) 6%

(E) Answer not known

en anduragy Gaily QAsraswuns emassiul L T 3,0006@ 2 ARHSEES

T 240y sal alguns eauhigdng aaild Ddamd ePhiEy ally Ssmas
STeHTS.

(A 3%
B 4%
C) 5%
D) 6%
(E) dlen Gasfweiidvena
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179. The bacteria in a culture grows by 5% in the first hour decreases by 8%
in the second hour and again increases by 10% in the third hour. Find
the count of the bacteria at the end of 3 hours if its initial count was

10,000.
(A) 10,700 (B) 10,800
(©) 10,376 & 10,626

(E) Answer not known

em aemswurer urdseflur, gsorug @ vl CpreHd 5% euerTsub,
@ream_maug wefl Crrsde 8% awanirsfls @amPlub, aperpreg waft Crrsdld 10%
aueriFfy sLflpg. QsTLEs580 xgar adananllsme 10,000 s QHHSS
aafd, apary wafl CrrsHoEl NG g aamaflsmsmus sTams.

(A) 10,700 (B) 10,800
(C) 10,376 D) 10,626
(E) ofen Qsfluaidene

180. If the total surface area of a cone of radius 7 cm is 704 cm?2, then find its

slant height.
(&) 32em (B) 23 cm
6 25 cm ' (D) 52 cm

(E) Answer not known

704 §.Qs8 Qurgsy ypuuguy Qsmar @@ sbGdér =qbd 7 Qal aefled
FTQWITLD STERTE.

(A) 32 Q@s.8 B) 23 Qs.8
(C) 25Qs.8 (D) 52 Qs.8
(E) &flen. GsMweciicdvena

181. Find the lateral surface area of a cube of side 12 cm.
(A) 144 cm?  (B) 196 cm?
576 cm? (D) 664 cm?
(E) Answer not known
12 Qs.18 uEs emayeTenr R SETFSHTSHT LSS LITUL STTS.
(A) 144 Qs.5 (B) 196 Q&5
(C) 576 Q.5 (D) 664 Qs.5
(E) dfleni Qzflwelldrena '
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182. If “ means ‘multiplied by’

~ ‘x’ means ‘plus’

‘+’ means ‘divided by’

and ‘+’ means ‘minus’

then find the value of
14-10x4 + 16+8

| (A) 6

o 142

© 134

D) -2

(E) Answer not known
afisse’ Glleowu QuEssaraa

‘Quepsad’ GMaw s Larseab

‘Tl Ld’ @Bl auEsBEOTELD

‘asgsd’ @Henw Sgﬂggmrrsmtb QsrerL_me

wHiy sraw: 14— 10x 4 « 16+ 8

A 6

(B) 142

€ 134

D) -2

(B) ofeL Agfuaidama
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183. Which colour is in opposite to the plane having blue colour?

Green

Red

5

5

©

Yellow
Orange

Red

Orange

@
5
s

(E) Answer not known

Blue

Purple

(B)

Purple

(D) Green

po fipgdlen arfligard> arps FpsHd GOESL?

LFanE
%07
Asly
(A)  wepsar
©O) <résa

. sy

YIS

(B) e @sfucidena

184. Find the sumof 2+4+6+...+ 80
(A) 820

1640

(E) Answer not known

FabHs snans 2+4+6+...+80

(A) 820

(&)

(E) oMo Qafwaierena

DMGS/2023

1640

74

Sy

sarg

(B)
(D)

B)
@)

(B)
(D)

mg,rr

UFang

1620
1660

1620
1660

Purple

Yellow

e

&



185. Assertion and Reason Type :
Assertion (A) :  Pilithevar tried to get the support of Hyder Ali and the
French.

Reason (R):  Hyder Ali could not help Pulithevar as he was already

Ina seri'ouslconﬂict with the Marathas.

(A) Both (A) and (R) are correct, but (R) is not the correct explanation |
of (8) |
(B) Both (A) and (R) are wrong
6 Both (A) and (R) are correct and (R) is the correct explanation of (A)
(D) (A) is wrong and (R) is correct |

L]

(E) Answer not known

sflwrear spaps Csiay Cels.

safmm (A) : HellgCaourt, manst e wHmw WATEssamiseiar 2 geflaw
| Qum auwerpr. : '
amyewrid (R) : wrrgdwuirsCeart® ghserGes Qarii Curisefld FHULGHE

QanaTy (HbSSTe oangit - jeblumed HelECoeumaS
2 sau(pymoed Gurang).

(A) smpm (A) wppnd smyamd (R) @pan@n &M erefgyid ‘srpen (R) ‘gnbHm)
(A) sgrer sflwnar larésn Gdena
(B) smpg (A) wopd smyemd (R) < fu GranEG seupratea

©C) spm (A) wopwd srpemd (R) gpdwene &, snyeard (R) ah,r_b@ (A) e
sfluraGey efleté@Ang |

D) oy (A) seuprang srgartd (R) sflwrengy -
(E) e Ggfwaidene
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1.86. Assertion (A) : Gandhiji opposed the ‘Communal Award’ of Ramsay
MacDonald,

Reason (R) : To get Dominion status from the British.

(A) Both (A) and (R) are correct

(B) (A) is wrong but (R) 1s correct

(C) (4) is correct but (R) 1s wrong

(D) Both (A) and (R) are correct and ®) is the correct explanation
(E) Answer not known

sapm (A) : groGs  GusCLremdr.  euprudlul m@uqmmﬂ @@ngL_
_ STHH WG S6T THTESMT.
sy (R) : Qumieiluen  pgevens %réja‘;leu_Jr'raaﬂl_Lb Qs
QuUEUSHENS. '

Q) spy (A) wppn srrend (R) GranGun s
(B) epy (A) seumy spemme srernd (R) sflwrang
spp (A) 5l parméd smyemid ®) sespnang

D) smop (A) wvogod smerb R) Gran@Guw sfl gemd sryemb (R) sflwnar
cllarésmE b

(E) efSerr. OsNweiidvana . |

187. Name the Tamil book was published in Goa in the year 1578.
(A) Viracholiyam '
(B), Ilakkana Vilakkam
‘Thambiran Vanakkam.
(D) Tolkappiyam
(E) Answer not known

1578 Qo Cemeunelle Qeavafilliiiuc L sl yssssden QuwT sams.
(A) SyGsmfPfun

(B) @wssenr aflerdsid

(C) swlgrer cuemésid

D) Qgréam@ubd

(E) <fer Qzflwefcvany
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'188. To whom does Valluvar compare the wrong doing ascetics?

A

B)
(C)

Actor
Fradulel_lt

Sinner

({ Hunter

(E)

Answer not known

sang Qewaseller FQUED sasCstasdld o daTaursmar anEbeT WTHLeT

U HEpT?

(A)
(B)
©
(D)
(B

Bt

QUEHESIT

uredl

Geui(Heurr

e GgMwelwvere

189. What is compared by Valluvar to the sweet music of Veena (Yaazh)?
@ Child's Babble

(B)
©
D)

(B

Parrot’s speech
Beloved’s words
Poet’s words

Answer not known

wirenpeli @aﬂmmmn«m@ ey eueT@set argeean UGS DT ?

Gy
B)
©
D)
(E)

Lpened QFme

HaftuQetr Gamed

sngad Qemed

sefl@gpit Qeme

et GpMueiidama
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190. One who possess these are considered as lion among Kings
@) Army, Subjects, Wealth |

(i) Ministers, Allies, Fort
(iii) Fearlessness, Charity and Education
(A) (i) alone is correct ﬂ (i) and (ii) are correct
(C) (1) and (111) are correct (D) (1) alone is correct
(E) Answer not known
creudenn 2 enieuiT paTLeuiled gy Gumemmeuit?
1) e, Gl. s
() ewss, Ly, T
(111) .sigpsTeL, s, Hdal |
@ Gocge B () wpge @) oepo
©) () woge (i) we @ D) (iii) i @G
(E) eflane @sfiwefdena

191. What are the three things to be shunned in order to dispel pain and
SOYYOW? '

- Lust, Wrath and Delusion
(B) Knowledge, Love, Affection
(C) Fear, Shyness, Blindness
(D) Happiness, Wrath, Sorrow.
(E) Answer not known
‘Brwow QsLsé QaRGHL’ eremm euemEneaT reuphaDé @D G ey ?
(A) amwow, Qeugal, LussD '
(B) oifey, ey, ursnd
(C)  =igsd, premtid, LD
D) za®s, Qauged, &@@5
(E) e Gsfweildame
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192. Ettuthogai and Pathupattu are the collection of ——— poems.
) 2400 |
(B) 3400
- (C) 4400
(D) 5400
(E) Answer not known
grﬁ.@&,@;srr@ssum, .uggjuan@lLb TOSBMYP ————— UM _D&@mend Clameam
Gesdu smaLeLnGL.
(A) 2400 |
(B) 3400
(C) 4400
(D) 5400
(E) el QzRucildme

193. “Better bullock carts and freedom than a train de luxe with subjection”.
Who said this? |

(A) S.Satyamurthy

(B) A. Subbarayalu

6 Annie Béasant

(D) Rukmani Lakshmipathi

(E) Ansvﬁrer not known

“ofireian arsdsierLen sigw Tl i eLEETTS AmUIUmSL &SbHTSSI_en
- sagw bILG e Cu Apbss) oTer sweir
@) S spBueiEs |

(B) A. arl;lunyrru_lg

(C) =anal Quearn

(D) - moweah elslud

(E) <. QgsMwuefcrena
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194, - - voiced the interest of the depressed clauses in the Round

Table Conferences
(4) T.M. Nair
% Rettaimalai Srmlvasan
(C) M.C. Rajah
(D) Pandithar Iyothee Thassar
| (E) Answer not known. | |
SOSSULLL el SMHESIEETE5TS mu;n_csmmg WIBTLigd GId QsrDdgari
(A) .6mb. prLH "
- (B) @ULmy_mmm @aﬂ@n&e&r
(C) ew.f. gogn
(D) usgst SCUNEE srsi

(E) ofer Gglweioame

195. The Sharda Act raised the minimum age marriageable for girls

years. |
@ 10 ®B) 12
6 14 | _ (D) 18
(E) Answer not known |

snigm s sHar Ly GUanseRe HHORT AL
A) 10 | (B) 12
©) 14 - (D) 18

(E) e QM welldrenaw
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196. The universal declaration of Human Rights was proclaiméd by the

197.

~ United Nations General Assembly in which place?
'6 Paris - (B) Europe
(C) USA. ' (D) Canada

(E) - Answer not known |

2 wserredw weflg e Nawsdr Curfisdmsurag psdw Brosd Gurg sauwiene

Siorend flepGauppliuiL b ergi?
(A) unflev - (B) '&Gjnﬁrun
(C) -cglGlLblﬂ$asrr : (D) seawnm

(E) oS Qsfwelidene

The Kavalan SOS App was launched by which Government? )

(A) Government of India

6_ Government of Tamil Nadu

- (C) Governmeilt of Kerala

(D) Government of Karnataka
(E) Answer not known

sreuaen aevged Geudew apgs s SfPsLLBSSLE?

&) @pdu s

(B) s HPET6H s

(C) Cayerm 3ya
D asr'fpr(L_as ST

(E) eflen Agfwaliivema
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198. The quantum of Groundn.ut production in Tamil Nadu is
'@7 About 7 lakh tonnes |
(B) About 11 lakh tonnes
(€) Abdut 15 lakh tonnes
(D) About 21 lakh tonnes
- (E) Answer not known ,
SBDBEM g Bles sLeme e pusdullen iemey eTare ?
(A) AL L 7 wisb Lenser
B) Hisgse 11 QL&D Lenaer
(C) digsr 15 @n_'_gm L GT&aT
(D) éh'_l_ggt_._ 21 WG LenseT

(B) e Qgllweildrea

199. Tamil Nadu is the highest producer of
(A) Rice and Pulse
6 Banana and Coconuts
(C) Coconut and Ragi |
(D) Banana and Pulses
(E) AnsWer not known |
SODBT 19 HFs0 2 HusHuNEGL QurHLser
A) 2ff wHmw LIBUIL| IanaaeT
B) earey vppw Cahsmi
(C) Gsmsmi wpmb gré
D) ey Lﬁj_"r)@Lb LI P
(E) e Gzfweidane.
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200. Assertion (A) : The Ahobila Mutt and many others have fade

distinctive contribution to the cause of education.
Reason (R) : Thé medieval period saw the founding of many religious .
mutt as the cause of education. |
(&) is true but () is t."alse_.
(B) Both (A) and (R) are true énd (R) 1s the correc.t explanation of (A)
(© () is false, (R) is true |
(D) Both .(A) énd (R) are true but (R) is not correct explanation of (A)

(E) Answer not known

sapm (A) : | 2CGapmAer wLD LHPL L WLLEN, uddlsdr, laprrrser

sdedsans saflsgeuwrer uhsallumus Aalgeararar.

smyamd (R) QeLsstb U® F WLBGEHD, WLLTQWESEHD &Soel

-mmmsﬁé;asna;_ Bmjeiu Lengd asesm_g.j.
&) (A) &M R) gaup
(B) (A) wpmd (R) s, R), (A) ssnar sfiuner elaésin
© Wompe®en |
D) (A) mm@m R) wfi, R), (A) senen sfhwnar efTéa @@

(E) oL Osfucddme
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